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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

1.  Answer any ten questions:

their own words as far as practicable.
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a)
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d)

Write different types of "Ideas" according to
Locke.
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What is primary quality, according to Locke?
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"There is nothing in the intellect which was not
previously in the senses"— Who said this?
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Is Berkley realist or idealist?
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Who is the author of "An Enquiry Concerning
Human Understanding"?
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What is meant by "esse-est-percipi"?
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What is "Impression" according to Hume?
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Give an example of Relations of Ideas, according

to Hume.
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Define analytic judgement, according to Kant.
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Give an example of synthetic a priori

judgement.
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"The sun rises in the East'— Is this judgement a
priori or a posteriori? Give reason.
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How does Berkley explain the continuity of the

existence of material things in the world? Write

in brief.
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What are the two marks of a priori judgement
according to Hume?
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What does Hume called his scepticism?
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2. Answer any four questions: 5%x4=20
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a)
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d)
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How does Hume distinguish between impression
and idea?
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Critically explain, Hume's scepticism.
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Explain the different degress of knowledge,
according to Locke.
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Write short notes on Kant's 'Copernican
Revolution' in philosophy.
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How does Berkeley refute Locke's distinction
between primary and secondary qualities?
Explain.
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3.  Answer any two questions:

How does Berkelay refute the abstract idea?
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What is meant by 'Innate Idea'? How does Locke
refute the doctrine of 'Innate Idea'? Explain.
2+8
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Explain in the role of God in Berkeley's
philosophy. 10
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Explain Hume's view of self. How does he

explain the issue of personal identity?  4+6
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How does Kant establish the possibility of
synthetic a-priori judgement? Explain. 10
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